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The Indian Communist Conference at 2. 
Tashkent formalized the foundation of the 
CPI in 1925.

Which of the above statements is/are correct?
 1 only(a) 
 2 only(b) 
Both 1 and 2(c) 
 Neither 1 nor 2(d) 

Which of the following members were 41. 
associated with Indian Home Rule 
Society?

Vinayak D. Savarkar1. 
Madam Bhikaji Cama2. 
 Lala Har Dayal3. 
Bal Gangadhar Tilak4. 
 Madan Lal Dhingra5. 

Select the correct answer using the code given 
below:

 1, 2, 3 and 5 only(a) 
 1, 3 and 5 only(b) 
  3, 4 and 5 only(c) 
  1, 2, 3, 4 and 5(d) 

The 1885-1905 phase of freedom struggle 42. 
is considered as moderate phase. Which 
of the following statements is/are correct 
regarding Moderate leaders?

They were patriots and did not play the 1. 
role of a comprador class.
They believed in England’s providential 2. 
mission in India.
They believed that the movement should 3. 
be limited to middleclass intelligentsia and 
masses are not yet ready for participation 
in political work.

Select the correct answer using the code given 
below:

 1 and 2 only(a) 
  2 only(b) 
 3 only(c) 
  1, 2 and 3(d) 

Which of the following statements is/43. 
are correct regarding Charter Act of 
1853?

The company was to continue possession 1. 
of territories unless the parliament 
provided otherwise.

The Company’s patronage over the Civil 2. 
Service was strengthened.

Select the correct answer using the code given 
below:

1 only(a) 

2 only(b) 

Both 1 and 2 (c) 

Neither 1 nor 2(d) 

Arrange the following states in the 44. 
ascending order of their acceptances 
of Subsidiary Alliance System of pre-
independence India:

Mysore1. 
 Awadh2. 
Poona3. 
Scindhiya4. 

Select the correct answer using the code given 
below:

 1-2-3-4(a) 

  4-3-1-2(b) 

 1-3-4-2(c) 

 1-2-4-3(d) 

Which of the following was the reason 45. 
for the Ahom Revolt?

 British eff orts to put an end to Ahom’s (a) 
practice of human sacrifi ce.

The oppression by revenue offi  cials, police, (b) 
money lenders, landlords in general by 
the outsiders.

The British attempted to incorporate (c) 
the Assam territories in Company’s 
domination.

 British eff orts of radical religious, social (d) 
and political changes.

 Which of the following statements 46. 
is/are incorrect regarding 
recommendations of Cabinet Mission 
Plan?

It accepts the demand of Pakistan.1. 
It provides for three-tier government at 2. 
union and two tier at provincial level. 


